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—HJ?1860 8671 A ThEx. —fIBLEZHELY ARMIELES

77—1 RZ_J_S There is a cube , whose volume is 1860.867 . By using "extraction of cubic root, we try to find
ﬁq::éjj_h\b 18060. 867ﬂ|1&ﬁ< how long a edge of this cube is .

EIZIRELTEADE 3FLTI000tFELELBD T, 1860. 08671

~ X _ . _ - A 12.3.
M510001F#E|I<E, 55860, 8671FLED RDOEI2TEEZ S o
ts ﬁzlzzéjj_ﬁ\’;)‘l , 2@%%1 J{Z#tﬁ( :*L(:*‘)Jﬁ‘l R’EEL—CZRZ First , we assume each edge of this cube is 10 . The volume of this cube is 1000, and we have a
_J_tfd:é :*L(:‘I Zd)ﬁ‘l RZT’&ﬁ\(T—CZ64'}F\&7Jé solod of 860.867 left after we take away the cube of 10 from the original cube .

F=AIZHE1IREMNTTI00HELS NEFEDHIZELTI645
ElhS CNICHLLLTA 25T NIZE-2T2 X 300D6001EF|E=

From this assumption , each edge can be more than 12, but less than 13.

2X60M120iFEg|E2 x40 81EA#5|L Second , we suppose each edge is 12 . Then we remove the cube with 10-long edge from the
= | 1 \ cube of 12 . And we divide the rest of the part into three rectangular solids . Every rectangular

€§\ ) 132. 867% tf&é 30)Pﬁ' 373 nt%Zét ﬁq:éijj_b\b‘l JQZTS is 2 thick . One is 10 by 12, anotheris 12 by 12, and the otheris 10 by 10 . The total volume of

yé < ;;h"“l Z@Pﬁ‘l RZ—-I_%/\ L—CZR4_-|_3 tfd‘é ;;h"‘ these three rectangular solid is 728 . Even after we remove the solid of 728 from the one of
R2~FT373%&M1T298. 894%:¢7446 FI=HIICT, 20BEZE1R2E 860.867 , we still have 132.867 .
MFTTI1445EGD INZADSRITKNHATE42. 895L1GSH C L e of the orioinal cube e 193 Ac we dd i the lnct <t

— e J\ — ird , we suppose each edge of the original cube is 12.3 . As we did in the last step , we

*L“%ZEL’(M—C%:B 7£j'l_,j'l_,( J:’J—C3 40 remove the cube with 12-long edge from the cube of 12.3 . Again, we divide the rest of part
1 2013|Z7E§|"§ \T:s 3X401 Zﬂ:%g'% 2 X 30M67% \’EEI% 3X8M into three rectangular solids . Every rectangular should be 0.3 thick . Oneis 12 by 12, another
2D AEZG|E S3XOMN2[ET7TEZ5|IZT H? j[(j:IEjj_ﬂ/&f&é is 12 by 12 , and the otheris 12 by 12 . Therefore , the volume of these three rectangular is
EDHRBERETEDEEFAITE-TI1 23D EH 123/ EDLES 132867

This is the same volume as the one left is the second step .

Consequently , each edge of the original cube is 12.3 .
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RV .
F I FETTHBITED ESAITE AT, The top of samurai is called Shougun .
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\ RECETROISHEVSS . RALLTRNMSRS Shougun .
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HER (English version)

There 1s a cube, volume 1s 1860.867. By using
“ extraction of cubic root 7, a method of

calculation to find the cube root, we try to find how
long a edge of this cube 1s.

Frist, we assume each edge of this cube 1s 10.

10X 10X 10=1000...D

And we have a solved of 860.867 left after we take
away the cube of 10 from the original cube.
1860.867—1000=860.867...2

Second, then we remove the cube with 10_long edge
from the cube of 12. And we divide the rest of the
part 1nto three rectangular solids. Every
rectangular 1s 2 thick.

(10X 12)+(12 X 12)+(10 X 10)=364...3

364X 2=1729...@

Even after we remove the solid of 728 from the one
of 860.867.

860.867—728=132.867...%

Third, as we did 1n the last step, we remove the
cube with 12_long edge from the cube of 12.3. Again,
we divide the rest of part into three rectangular
solid. Every rectangular should be 0.3 thick.

(12X12.3)+ (12.3X12.3) + (12X12) =442.89...(D

Therefore, the total volume of these three
rectangular 1s 132.867.

Consequently, each edge of the original cube 1s 12.3.
% : £ fE—[6)(person in charge:students)

By [exctraction of cubic root] we try to find how long
a edge of this cube is . However , when we finished
this problem , we found the cube was wrong . So , we
solved it using the original cube .

Impression

It was hard for us to solve the problem again
and again until we found the cube was wrong .

Future problem

We want to solve problems without thinking that
problems are always true..

f% : A 8| (person in charge:ishibiki)




